Emily’s House - Answers

1 a): The temperature was 24 °C at 11 am.

1 b): The temperature was 25 °C at 1 pm.

1 ¢): The temperature was 25 °C at 2:30 pm.
1 d): It was warmest at 2 pm.

1 e): The temperature was 21 °C at 10:15 am.
2: It is above 24 °C for approximately 2 and a half hours (from 12:30 pm to 3 pm).
3 a): The temperature was 11 °C.

3 b): The difference is 2 °C.

3 ¢): For example:

Same: It was warmest at 12 pm on both days.

Different: It was warmer at 8 am than it was at 2 pm on 1 October, but the opposite is true of
1 December (warmer at 2 pm than at 8 am).



